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note: in order to allow young women who were orphans and, therefore, vulnerable, to be married in a timely fashion, 57rn established
80 w117 by which the mother or brothers marries her off as a minor, but she can ‘walk out’ on the marriage at majority; this
‘walking out’ is called px2p. Our case deals with a 73V whose husband dies before she reaches majority and she then performs xp to

the pa.
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mRHNN NIX (see note) (YRINW) NTOR to marry p if the minor did prn to that brother after her husband died
a. she may, however, perform m12’ with any of the other brothers
b. the reason for the N7 may come to permit mxnn N2 n¥ which is prohibited since from the moment of
n991 she appears to be 1125 nY21w 13, even though her 118n should retroactively cancel the original
marriage and permit the nyx
c. stipulation in mwn — “any of them that performed prn” refers to prn to the original husband, not na
YR NIx (oR ): forbidden as per v. 1 75N qwr 11210 and she is not Ton-able.
a. If the Yva didn’t know she was an m"n%»R at some point, the pv1Tp were myv npn and invalid, the nax is
a full D2’ MMV (D12» OR n¥Hn); if he did know and continued living with her, the pwyTp are valid
b. 1Y (R11): all of these may perform bya»
i MIRPN NN
ii. mnorr My
iii. MW PN MY
n”: 3 women who may use birth control (11n) due to danger inherent in pregnancy
a. mvop — danger to her, she may get pregnant and she may die
i. from 11 to 12 only; older or younger she has regular relations
ii. ©nIN:in any case, she has regular relations and “’n will protect her” (v. 2)
iii. inference: (from wording of concern) some nnop do give birth and live
iv. challenge: our mwn states that 1mnn etc. cannot be in category of mxnn
1. inference: impossible for a nvp to give birth and live
v. answer #1: our concern is that she may get pregnant in which case she will certainly die
vi. answer #2: children are N2 1Y, in any case (even according to N’ '3 who requires
advanced p’n’o)
b. n12wn - danger to fetus
c.  npn - danger to nursing baby
Analysis of exemption of multiple layers of n11¥ — source
a. nmm v, 4 (myy) OR
b. w3 Reasoning — N1¥ is in place of M7y, no reason to distinguish between 1 layer or multiple layers
Analysis of Y9730 1R 1NN DR 09N
a. Impression: (from mwn) — even if he married the n1¥ and then divorced the potential ny
b.  Challenge: ruling about 3 brothers, 2 married to 2 sisters and then:
i. Step #1: brother #1 divorces sister #1
ii. Step #2: brother #3 (unmarried) dies
iii. Step #3: brother #2 may perform o2’ on other wife of brother #1
c.  Answer#1: this ruling disagrees with our nywn about which moment creates npr:
i. Possibility #1: n9an nmn: upon death of husband
ii. Possibility #2: 0% an nIwRIN PRIV retroactive to moment of original marriage
d. Answer #2: ruling about 3 brothers is presenting the more obvious case of In>n (11 9”%R1 1)
Analysis of final clause of nwn:nNa»NN XY NXYIN MRAND NPRY RS 191V )
a. question: why doesn’t she perform oa»?
b. Answer: from moment of n>’93, she appears to be 121 nx (or whichever n1y)
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